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Test 2C-Principles of Microcconomicy
Professor Wallace-Fall 2016
Multiple Choice (32 points): On the scan sheel mark the letter corresponding Lo your answer.

Shad has income of 12 KD to spend on donuts and collee every day. The price ol collee is 3 KD and the
price of a donut is I KD. His utility maximizing consumption is 2 collees and 6 donuts. Use this
information for the next three questions. The ¢ subscript refers to colfee, d to donuts.

1. Which ol the lollowing conditions for marginal utility and prices holds il Shad is consuming his utility
maximizing combination of donuts and coffee?

U MU MUG _ MU MU MU . '
@—‘1 = =< %——— < —= c.—% > —= d. none of the others
Pd Pc N pd Pc Pd Pc

2. Suppose Shad is actually consuming 4 coflees and 0 donuts. At the combination of 4 collees and 0¥ CL

donuts, what is the relatonship that holds for the margial utlities and prices? : c
MU MU, MU MU MU, MU .
A, —2%= —¢ b —%< —= @—d > —= /@ﬂonc of the others
Pd Pc Pd Pc Pd Pc
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3. Supposc Shad is actually consuming 4 colflees and 0 donuts. To increase his utility while spending the
same, Shad should ______ Ius Consumplibn ol coflees and

A increase, merease .

1. increase, décrease

decrease, increase
d. decrease, decrease
¢. none of the above”-

his consumption ol donuts.

4. Marginal utility 1s the _
a. additional; all units
@ additional; 6ne more unit ,

¢. total; all units
d. total; oné more unit

_ satis[action gained by consuming ol a good.

¢. none of the above

5. The best method of producton is the one that

@ muaximizes output regardlless ol cost. ({Q‘,x
b. maximizes mpuls. W\ 0‘:* !{T
c. makimizes cost. : N Cond
.minimizes the normal rate of return.
hone ol the above

6. 1f the quantity of peanut butter demanded increases by 4% when the price of jelly decreases by 8%, tlic
cross-price elasticity of demand.between peanut butter and jelly is :
a. 4. . . Co R \ermaend
b.-2 e Q4 L« -
.2, ==

MIEEAS T - ®
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¢. none ol the above

~ . 7

7. The more time that elapscs, the
: L .

a. more price elastic is the demand lor the product.

) less price elastic is the demand for the product.
¢. greater the income elasticity of demiand for a product.
. smaller the income elasticity ol demand [or the product.
¢. none ol the above
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8. A government wants to reduce clectricity consumption by 109%. The price elasticity of demand for

clegiricity 1s -2.00. The government must ________ the price ol electricity by ________.
ﬁrusc, 5.09% ) '
b. raise; 1.25%
c. raise; 8.0% . ~\© _ “\e S
lower; 5.0% ’,@’: - B —
e. none of the above - \
.ul II True False (30 points): On the scan sheet mark A for truc or B for false. "

v 9. A perlectly elastic demand schedule is a vertical line.

X @ ¥/ 10. When the slope of a demand schedule is constant, price elasticity of (lcm,md is conslant as well.
s @@‘ 11. When the price of collee decreases, the mcome ellect means buying more (ol](:(. g > (.

x F

12. The income clasticity of demand is the percentage change in income divided by the percentage

_change i quantity demanded.
R 13.

The ‘more is better’ principle means marginal total increases as consumption of the good
increases. 4 7
e I 14. When the price of collee decreases, the subsltution ellect means buying more colfec. - .
@ 15. The market demand for labor is inade up of the supplies ol labor of all individuals in a market.
Short Answer (60 points) Write your answers on this test. : -
1. (24 pomls) The table shows a list of events. IEach evenl alfects the market mdlmlul In cach case you
should show the ellects ol the event on demand (D), supply (S), the equilibrium price (P), and the
cquilibrium quantity (Q). The cvents are independent in the sense that an event listed in one row of the
table does not affect the market in a different row. Be sure to take into account the information given about
the elasticity in cach problem before answering. Use these symbols: + increase or shift right,
- decrease or shift left, U uncertain effect or shift, 0 no effect or shift
Market in Kuwait Event D[S | P

Q
Sodas Income decreases (gy < 0) Wesist -+ (%'/ y/-f ~
Mangos Price of detergentfalls, (se=0) /‘Z ) % © )/ 7 GO G O%

Heart transplants The costs of production decrease, (€1 = 0) 71{,7 1

2. (8 points) Use the information provided in the table helow to answer the questions that follow.

. . o
Inputs Required to Produce a Product Using Alternative Technologies N K N W
Technology  Units of Capital Number of Employees W X\ W XA \ob
A 4 18. R A
B 6 12 S TR e v oA\
c 8 8 \ LR

D 12 6

Refer to the table. If the hourly wage rate is 4 KD and the hourly price of ('lpwll is 10 KD, which

production techt should be selected? Circle one answer.
afl c.C d.D

Reler to the table. If the hourly price of labor is 20 KD and the hourly price of capital is 25 KD, which Y

production technology should be s¢lected? Circle one answer.
a A b.B c.C /@K“ QX ¥ \@® K T Sy

yay ¥ \toxte = 390
% ’<’7-S ¥ g ®e = Zéo
- VL ¥ o~ G xe & M0

Y
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3. (28 pots) Paco owns a shop that makes chocolate bars. The production [unction showing the
relationship between output and labor is shown in the graph below. Assume capital is fixed.

e e

Qutput
Production Function for Chocolate 8ars in Paco's Shap
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Complele the lollowing table by hilling the blank spaces with values [or output, the average product of labor
(APL), and the marginal product ol labor (MPL) then answer the questions that [ollow the table.
Important: Note that labor increases by@unlt 1ncrcnzcn§s in the graph and table, not 1

unit increments.

Labor Output 77Q , APL " MPL
0 0o’ S - = S
5 205 ' POEE Ao 6§ 0 o, | B
10 350 35 32 2l . 8% =, Ewg
15 Lo 273 Wy 003 o N
20 4yo 27 we. A e =
For the next questions your answers will be integers, no fractions (part-time) of workers.  ~ 5=
c.  The price of the chocolate bar is 3 KD. / - W ~\o'—~“°
k.If the wage rate 1s 35 KD the firm should hire _//__ _ workers. S
’ =

il

ii. Il the wage rate is 15 KD the Inm shoul(l hire _ _ngml\us g/
d. The price of the product is I KD. ' — %

Il the wage rate 1s 35 KD the [irm should hire __V _gvm kers.

il If the wage rate is 15 KD the lirm should hire __Y/ _[ _ﬂ'orkers.

“o X 3 7 \20
goal = A
wxg = %°
o xn \9
H g9
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